ECP1

Devoir 10

Exercice 1
L. lim f(x)= lim x> =6x+1= lim x* =+c.
X — +0o X — +00 X — 400
lim f(x)= lim x* =6x+1= lim x* = +oo
2. f'(x)=2x-6
3. 2x=620
- 2x=26
- x2=3
On en déduit :
T —00 3 +0o
Signe de f'(z) - 0+
Variations |79 00
de f T
f(3)=3*-6x3+1=9-18+1=-8.
Exercice 2
1. lim f(x)= lim x’ +3x> =9x= lim x’ = +o.
lim f(x)= lim x’+3x* -9x= lim x’ = -0
2. f'(x)=3x>+6x-9
3. a=3,b=6,c=-9. A=b’~4dac=6"-4x3x(-9)=36+108 =144 >0

Il y a deux racines :

L oTheVA _-6-V144 _-6-12 _—b+JA _-6+-144 _—6+12 _
: 2a 2%3 6 2a 2%3 6

f' (x) est du signe de 3 a I’extérieur des racines. On en déduit :

1

-3 et x,

x —00 -3 1 400
Signe de f'(x) + 0 - 0 +
Variations 27 +00
de f _OG/ \_5/

£(=3)=(-3) +3x(-3)* —9x(-3) ==27+27+27 =27 et f(1)=1>+3x1>-9x1=-5,



